

Paper 7 Financial Accounting


Chapter 5 HKAS 17 Leases

(I)
Multiple Choice Questions

1.
In which of the following examples of real estate transactions would the seller NOT transfer the usual risks and rewards of ownership?

(1)
The buyer can compel the seller to repurchase the property

(2)
The seller guarantees the return of the buyer’s investment

(3)
The seller is required to support operations of the buyer and will be reimbursed on a cost plus 10% basis

A
(1) and (2)

B
(1) and (3)

C
(2) and (3)

D
All of the above



(HKAAT Paper 7 Advanced Accounting Pilot Paper 2001)

2.
A company leases some plant on 1 January 2003. The cash price of the plant is $9,000, and the company leases it for four years, paying four annual instalments of $3,000 beginning on 31 December 2003.

The company uses the sum of digits method (Rule of 78) to allocate interest.

What is the interest charge for the year ended 31 December 2004?

A
$900

B
$600

C
$1,000

D
$750

3.
A company leases some plant on 1 January 2003. The cash price of the plant is $9,000, and the company leases it for four years, paying four annual instalments of $3,000 beginning on 1 January 2003.

The company uses the sum of digits method (Rule of 78) to allocate interest.

What is the interest charge for the year ended 31 December 2004?

A
$750

B
$500

C
$900

D
$1,000

4.
Which of the following statements about HKAS 17 “Leases” are correct?

1
A finance lease is one which transfers substantially all the risks and rewards of the ownership of an asset to a lease.

2
A leased asset should be depreciated over the shorter of the lease term and the useful life of the asset.

3
All obligations under finance leases will appear in the balance sheet under the heading of “Current liabilities”.

4
An asset held on an operating lease should appear in the lessee’s balance sheet as a non-current asset and be depreciated over the term of the lease.

A
1 and 3 only

B
1 and 2 only

C
2 and 4 only

D
All four statements are correct

5.
On 1 January 2003, ABC entered into a lease agreement to acquire an item of plant which had been specially constructed for it and was physically installed in the company’s premises. The plant had a cost of $600,000 and an estimated useful economic life of five years.

Under the terms of the lease, ABC pays $125,000 per annum, with payments due on 1 January each year. The interest rate implicit in the lease is 8%. The present value of the total minimum lease payments is $539,000.

What is the total charge to the income statement in respect of the lease for the year ended 31 December 2003?

A
$125,000

B
$140,920

C
$153,120

D
$158,000

6.
Which of the following statements about the accounting treatment of leases are correct, according to HKAS 17 “Leases”?

1
An asset held by a lessor for use in operating leases should be recorded as a non-current asset and depreciated over its useful life.

2
If the owner of an asset sells it and immediately leases it back on a finance lease, any profit on the sale must be recognised in the statement of changes in equity, not in the income statement.

3
At the inception of a finance lease, a leasee should take the lower of the fair value of the asset and the present value of the minimum lease payments as the amount to be recorded.

A
All the statements are correct

B
1 and 2 only

C
1 and 3 only

D
2 and 3 only

7.
On 1 July 2003, DEF sold a freehold property to XYZ bank. From that date, the property was leased back to DEF on a ten year operating lease.

DEF had originally purchased the property for $750,000 and had charged total depreciation of $150,000. XYZ Bank paid $800,000 for the property on 1 July 2003. At that date its true market value was $700,000.

How should the sale and leaseback be recorded in the financial statements of DEF at 1 July 2003?

A
Leave the property on the balance sheet at $600,000 and recognize a loan of $200,000.

B
Remove the property form the balance sheet. Recognise a profit on sale of $200,000.

C
Remove the property from the balance sheet. Recognise a profit on disposal of $100,000 and a loan of $100,000.

D
Remove the property from the balance sheet. Recognise a profit of $200,000 and deferred income of $100,000.

8.
W prepares financial statements to 31 March each year. On 1 April 2002, W sold a property to a finance enterprise for $200 million. The property had a carrying value immediately before sale of $110 million and a fair value of $140 million. The property was leased back on a 10-year operating lease with annual rentals of $35 million payable in arrears.

The following statements refer to this transaction:

(i)
Under current Accounting Standards, the property would no longer be a non-current asset of W following the sale and leaseback.

(ii)
Under current Accounting Standards, the profit on sale of property that would be recognised immediately by W would be $30 million.

(iii)
Under current Accounting Standards, the annual charge to income in respect of the property over the 10-year lease period (excluding any gain or loss on sale of property) would be $35 million.

What of the above statements are true?

A
None of them

B
(i) and (ii) only

C
(i) and (iii) only

D
(ii) and (iii) only



(CIMA Paper 7b Financial Reporting May 2003)

(II)
Examination Style Questions

1.
The Assistant Accountant of Cova Ltd is preparing the financial statements of Cova Ltd for the year ended 31 December 1997.

On 1 December 1997, Cova Ltd entered into a “sale-and-leaseback” transaction involving the office premises so as to generate working capital to fund operating activities. Payments are made in arrear. The accountant has treated the lease as an operating lease and has charged a rent of $317,500 to the operating profit as rent payable.

The Financial Controller reviews the terms of the “sale-and-leaseback” transactions and advises the Assistant to reclassify the lease as finance lease by using the following data:
	
	$’000

	Current obligations at 31 December 1997
	45

	Non-current obligations at 31 December 1997
	168

	Depreciation for the year
	50

	Finance charge for the year
	25


In addition, Cova Ltd has recently leased a motor vehicle. The cash price of the motor vehicle was $410,280. The company has to pay the five annual instalments of $100,000 to the lessor. The first payment is to be made on 2 January 1998 and interest element is included in this instalment of payment. However, the motor vehicle was accepted and insured by the company on 29 December 1997 at no extra charge. The lessor has granted an option to Cova Ltd such that after the primary period of five years, Cova Ltd can continue leasing the motor vehicle at a nominal rent of $1. Cova Ltd is responsible for insurance and maintenance of the motor vehicle. The assistant accountant  does not know how to treat this item in the financial statements and no entry has been recorded in the books of Cova Ltd.

Required;
(a)
Prepare accounting journals to reclassify the “sale-and-leaseback” transaction into finance lease. Narrative notes are required for each accounting journal.
(13 marks)

(b)
Define “finance lease” in accordance with HKAS 17.
(4 marks)

(c)
Determine the type of lease on the motor vehicle with justification if the present value of the minimum lease payments is equivalent to the cash price by using an implicit interest rate of 11.5%.
(5 marks)

(d)
Prepare an accounting journal to account for the lease on the motor vehicle.
(3 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II June 1998 Q4)
2.
A leasee leases an asset on a non-cancellable lease contract with a primary lease period of three years from 1 January 1996. The lessee has the right to continue to lease the asset after the end of the primary lease period with the payment of a nominal rent of $1. The lessee is required to pay all maintenance and insurance costs as they arise. The lessee estimates that the lease will be continued for a further two years after the end of the primary period.

The cash price of the leased asset is fixed at $81,000 by the vendor at the start of the lease. The lessee is required to pay a rental of $10,000 per quarter in arrears.

Required:
(a)
Calculate the total finance charge of the lease.
(3 marks)

(b)
Apply “Rule of 78” to apportion the total finance charge and compute the finance charge per payment period and per annum.

(“Rule of 78”: If finance charges are allocated over a one year period, months 1 to 12 when added together come up to 78.)
(10 marks)

(c)
Apportion the annual rentals of the lease period into finance charge and capital repayment.
(3 marks)

(d)
Show the cost, accumulated depreciation, and net book value of the leased asset for the years ended 31 December 1996, 1997 and 1998.
(5 marks)

(e)
Show the obligations under finance lease outstanding at the following point of time:

(i)
1 January 1996

(ii)
31 December 1996

(iii)
31 December 1997

(iv)
31 December 1998
(4 marks)



(Total 25 marks)



(HKAAT Paper 7 Financial Accounting II December 1998 Q3)

3.
East Limited entered into a lease agreement with West Limited on 1 January 2004 to lease office machinery. The cash price for the machinery on 1 January 2004 is $10,000. Under the lease agreement, East Limited was required to make an initial deposit of $3,998 with the balance being settled in 3 equal installments of $2,500 payable on the last day of each year, starting from 2004. The imputed interest rate on the lease was 12% per annum. The useful economic life of the machinery was estimated to be 4 years.

Required:
(a)
Describe the criteria, under HKAS 17 “Leases”, for classifying a lease as either a finance lease or an operating lease.
(3 marks)

(b)
List the indicators which would normally lead to a lease being classified as a finance lease.
(7 marks)

(c)
Show the breakdown between interest and capital throughout the lease period, using the actuarial method.
(5 marks)

(d)
Prepare the journal entries for the lease in East Limited’s book from 2004 to 2005.



(7 marks)

(e)
Prepare the balance sheet extracts relating to the lease as at 31 December 2004 for East Limited.
(3 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Advanced Accounting June 2004 Q.C3)

4.
Dazie Limited, a long established company, manufactures and sells health food and medical consumables through retail stores and to local hospitals. The draft financial statements for the year ended 31 December 2004 show profit before tax of $3.85 million (2003 - $3.47 million) and total assets of $40.4 million (2003 - $36.5 million). The Director of Dazie Limited, Mr Joe Woo, is wondering whether there is any prior period error in the company’s accounting record and would like to seek your advice on the appropriateness of accounting estimates for the following event:

(i)
On 1 January 2004, Dazie Limited entered into a 5-year non-cancellable lease of an office premise on 38th floor of a new development. The lease payments are $150,000 paid annually in advance. At the time of establishing the lease, the open market value of the leased office premise and banks’ best lending rate were $3 million and 4% respectively. The present value of lease payments has been recognized as a leased asset and lease obligation. The leased asset is being amortised on a straight-line basis over the lease period.

Required:

For the item (i) above, do you think that they have been correctly recorded during the year ended 31 December 2004? If not, what is the appropriate treatment? Justify your answers.

Your answer should include discussions on the requirements of the relevant HKAS, the problems in the accounting treatment of these items, if any, as well as the appropriate accounting treatment and disclosure of the items.
(10 marks)

	Cumulative Present Value Table

	Years
	Discount factor 4%

	1
	0.962

	2
	1.886

	3
	2.775

	4
	3.630

	5
	4.452



(Adapted HKAAT Paper 7 Advanced Accounting June 2005 Q.C4b(i))

5.
Beta Limited, which has an accounting year end of 31 December 2005, had entered into the following leasing arrangement with other companies:

(1)
Beta Limited leased specialized equipment, which had an estimated useful life of 4 years, to Hirer Limited on 1 January 2005. Hirer Limited could use this equipment without any modification and installation. On that date, the equipment had a fair value of $17,500. Details of the lease are:

· terms of lease
4 years

· Annual lease payments, payable in arrears
$4,500

· Guaranteed residual value (by lessee)
$6,000

· The lease is non-cancellable.

(2)
Beta Limited leased a machine from Alpha Limited on 1 January 2005. The lease terms required Beta Limited to pay 3 annual payments of $42,000 to Alpha Limited beginning 1 January 2005. The expected useful life of the machine was 6 years. At the end of the lease period, the machine will be transferred back to Alpha Limited. The fair market value of the machine at 1 January 2005 was $150,000.

Assume that the interest rates implicit in both leases are 12%.

Required:

(a)
Provide examples of situations where a lease will normally be classified as a finance lease.




(6 marks)

(b)
Explain how a finance lease should be recognized and measured at the commencement of the lease term.

(5 marks)

(c)
Discuss whether the lease arrangement between Beta and Hirer Limited is a finance lease or an operating lease and prepare the journal entries to record the lease transactions at the inception of the lease for the year ended 31 December 2005 in Hirer Limited’s book.




(9 marks)

(d)
Discuss whether the lease arrangement between Beta and Alpha Limited is a finance lease or an operating lease and prepare the journal entries to record the lease transactions at inception of the lease for the year ended 31 December 2005 in Alpha Limited’s book.




(5 marks)

(Your answer should be in line with HKAS 17 “Leases”)

Present value table:

	Years
	Discount factor 12%

	1
	0.8929

	2
	0.7972

	3
	0.7118

	4
	0.6355

	5
	0.5674

	6
	0.5066




(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 Q.C3)

6.
Larine Limited, a listed company, has an accounting year end of 30 June. The rental of office equipment relates to two separate lease contracts. Details of these contracts are as follows:

1.
Finance lease:

The finance lease was entered into on 1 July 2007 for a three-year period and $16,500 was paid at that date. The lease agreement also requires three further annual payments of $18,000 commencing on 1 July 2008. The interest rate implicit in the lease is 10% per annum. At 1 July 2007, the lease equipment had a fair value of $60,000 and an estimated useful life of 4 years.

2.
Operating lease:

The other lease contract, which was entered into on 1 January 2007 is an operating lease for three years. The lease agreement requires three annual rental payment of $8,000, payable in advance, commencing on 1 January 2007.
It is the policy of Larine Limited to apply straight-line depreciation on office equipments; and a full year’s charge is made in the year of acquisition and none in the year of disposal.

Required:

(a)
What is the basic principle of classifying different types of lease?
(5 marks)

(b)
Prepare the extracts of statement of comprehensive income and statement of financial position of Larine Limited for the year to 30 June 2008 and explain how the item presented should be recognized and measured.

(The figures presented on the financial statements should be rounded up to the nearest dollar.)

(10 marks are allocated to extracts of financial statements and 10 marks are allocated to explanation.)
(20 marks)


(Total 25 marks)

(Your answer should be in line with the requirements of HKAS 17 “Leases”.)


(HKIAAT Paper 7 Advanced Accounting December 2008 C3)
7.
Lessor Limited entered into a lease agreement with Lessee Limited on 1 January 2007 to lease office machinery. The terms of the lease are as follows:
(1)
Lessee Limited was required to make an initial deposit of $5,550 with the balance being settled in three equal instalments of $5,300 payable on the last day of each year, starting from year 2007.
(2)
Upon the expiry of two years after the inception of the lease, Lessee Limited has the options to:
(a)
purchase the office machinery at an amount of $5,500; or
(b)
continue the lease for a period of two years at a rent of $500 per month.
The following information is also available:
(1)
The imputed interest rate of the lease was 15% per annum.

(2)
The useful economic life of the machinery was estimated to be four years.

(3)
The cash price for the machinery is $20,000 on 1 January 2007.

(4)
The market rent for the office machinery at 1 January 2007 is $1,000 per month.

(5)
The director of Lessee Limited indicates that he will take either one of the options upon the expiry of two years after the inception of the lease.

(6)
It is estimated that the residual value of the office machinery at 31 December 2008 will be $10,000.

(7)
It is the policy of Lessee Limited to depreciate the office machinery on a straight-line basis and full year depreciation is charged in the year of acquisition and none in the year of disposal.
Required:

(a)
Describe the basic principles, under HKAS 17 Leases, for classifying the lease into finance lease or operating lease.
(3 marks)

(b)
Discuss whether the lease between Lessor Limited and Lessee Limited is a finance lease or an operating lease.
(7 marks)

(c)
 Assume that the lease between Lessor Limited and Lessee Limited is a finance lease, show the breakdown between interest and capital throughout the lease period, using actuarial method.
(6 marks)

(d)
Prepare the journal entries in Lessee Limited’s book for the year to 31 December 2007. (Narration is required.)
(9 marks)
(Your calculation should be rounded up to the nearest dollar.)


(Total 25 marks)



(HKIAAT Paper 7 Financial Accounting Pilot Paper 2008 C1)
8.
Mass Ltd. leased brand new equipment to Machinery Ltd. on 1 January 2008. Machinery Ltd. has to pay annual rental of $145,000 commencing 1 January 2008. This is a four year lease with the last rental payment falling on 1 January 2011. At the end of the lease term, Machinery Ltd. has the option of purchasing the leased equipment for $10,000, and it is most probable that Machinery Ltd. will exercise this option.

Machinery Ltd. will guarantee Mass Ltd. a residual value of $80,000. Further, Machinery Ltd. is required to pay all repair and maintenance expenses, as well as the insurance cost of the equipment.

The equipment has an expected useful life of 5 years. If machinery Ltd. were to buy the equipment directly from the market, the cash price is $580,000.

The market borrowing rate at the inception of the lease is 12%.

Present value table:

	Years
	Discount factor 12%

	1
	0.8929

	2
	0.7972

	3
	0.7118

	4
	0.6355


Required:

(a)
“A lease is classified as a finance lease if it transfers substantially all the risks and rewards incidental to ownership. A lease is classified as an operating lease if it does not transfer substantially all the risks and rewards incidental to ownership.”

Explain the nature of “risks” and “rewards” in the above context.
(4 marks)

(b)
Explain and determine whether the above lease is a finance lease or an operating lease.



(4 marks)

(c)
Assume that the lease is a finance lease, prepare journal entries (including narratives) that are required to be entered into the books of Machinery Ltd. for the financial year ended 31 December 2008.
(7 marks)

(d)
Prepare extracts of statements of comprehensive income and statements of financial position to report the above lease for Machinery Ltd. and Mass Ltd. respectively for financial year ended 31 December 2008.
(7 marks)

(e)
One of the main objectives of HKAS 17 “Leases” is to forbid a company from reporting a finance lease as an operating lease in the financial statement. Explain why a company might wish to report a finance lease as an operating lease?
(3 marks)



(Total 25 marks)



(HKIAAT Paper 7 Financial Accounting December 2009 C2)
9.
Lessor Limited (Lessor) acquired equipment for $50,000, which is also its fair market value, on 1 July 2002. Lessor immediately leased equipment to Lessee Limited (Lessee) on the same day. The lease term is four years and the expected useful life of the asset is ten years. The lease contract calls for annual payments of $7,813.6 beginning on 1 July 2002, based on a desired 8% return on its investment. The equipment had an unguaranteed residual value of $30,000 on the date of contract. Both Lessor and Lessee depreciate all their non-current assets on a straight-line basis. Lessee reverts the equipment to Lessor upon completion of the lease term.

Required:
(a)
Determine whether the lease is a finance lease or an operating lease for both Lessor and Lessee. (The present value of $1 discounted at 8% for four periods is 0.7350, and the present value of an annuity due of $1 discounted at 8% for four periods is 3.5771.)



(6 marks)

(b)
Regardless of your answer to part (a), prepare the journal entries in the books of both Lessor and Lessee in recording the lease on 1 July 2002 and at the year-end 31 December 2002, assuming that the lease is a finance lease for both lessor and lessee.
(7 marks)

(c)
Prepare journals entries in the books of Lessor when Lessee returns the equipment with a fair market value of $27,000 at the end of the lease.
(2 marks)

(d)
Suppose that both the balance sheets of a lessee and a lessor are exactly the same, containing total assets of $30,000, total liabilities of $10,000 and equity of $20,000. Assuming the amount of capitalization of a lease is $10,000, what are the effects of the capitalization on total assets, total liabilities and equity of both the lessee and the lessor? Discuss whether the lessee or the lessor prefers to capitalize the lease in terms of its effects on the changes in the three categories of items in their balance sheets.
(5 marks)



(Total 20 marks)



(HKAAT PBE Paper I Financial Reporting December 2003 Q2)

10.
Jones is considering acquiring on 1 January 20X7 the use of a major piece of heavy agricultural plant, the Vinnie, which has a useful economic life of 8 years. The cost of the Vinnie would be $600,000 if it were bought for cash. Jones has employed a firm of consultants. Cly Vallon and Co, who are experienced in high value purchases of this type, to recommend a range of financing options. Their suggestions are as follows, both transactions being with Backward or Bust Co.

Option A
Enter an 8 year lease for the Vinnie, with a lease rentals of $110,000 payable annually in advance.

Option B
Enter a four year lease for the Vinnie, with lease rentals of $150,000 payable annually in advance, and with an optional secondary period of three years at rentals of 60%, 40% and 20% of the annual rental in the primary period. It is agreed that these rentals represent a fair commercial rate.

Maintenance and insurance are to be responsibility of Jones but Backward or Bust Co has negotiated a guaranteed trade-in with the manufacturer at $166,000 if Jones returns the Vinnie after 4 years and does not take up the secondary period. The rate of interest implicit in the lease is 13.5%. The Vinnie would be worthless at the end of the secondary lease period if it was taken up.

Required:
(a)
to prepare a memorandum for the finance director of Jones setting out the amounts to be included in the balance sheet and income statement of Jones at 31 December 20X7 under each of the two alternatives, explaining briefly justification for the treatments you have adopted.



(10 marks)

(b)
to state briefly (without calculations) how the two alternatives would be treated in Backward or Bust Co’s accounts for the year ended 31 December 20X7.
(4 marks)



(Total 14 marks)

11.
P is an engineering company which invests heavily in plant and equipment. Due to poor cash flow in recent years the majority of this investment has been financed by loans. Consequently, the gearing ratio of P has increased to an unacceptably high level. However, the requirement for new plant and equipment for the business as high as ever.

One of the assistant accountants of P suggests that one way to obtain the additional plant required, without increasing the gearing ration by further borrowings, would be lease the plant rather than buy it. Accordingly, the assistant accountant obtains details concerning the possibility of leasing an item of plant required by P on 1 October 20X5. These are as follows:

(i)
The cost to purchase the plant outright would be $2 million. The plant would have a five-year life, with no residual value.

(ii)
The plant can be leased on a five-year lease with 20 quarterly payments (in arrears) of $122,320. P would be responsible for the repairs and maintenance to the assets during the lease term, and would have an option to purchase the asset for $1 at the end of the lease term.

The board of directors is considering the principle of switching from outright purchase of plant to leasing. The directors are attracted by the suggestions of the assistant accountant that the leasing option will have beneficial effects on the gearing of the company when compared with outright purchase.

Required:
(a)
Draft a memorandum to the assistant accountant responding to his/her suggestion that leasing the asset will have no effect on the gearing ratio of P. Your memorandum should refer to the provisions of any relevant accounting standards.
(8 marks)

(b)
Prepare extracts from the financial statements of P for the year ending 31 December 20X5 showing the effect of the leased asset on the income statement and the balance sheet. Interest on finance leases is allocated using the sum of the digits method.




(12 marks)



(Total 20 marks)

12.
S is a large manufacturing company. The company needs to purchase a major piece of equipment which is vital to the production process. S does not have sufficient cash available to buy this equipment. It cannot raise the necessary finance by issuing shares because it would not be cost-effective to have a share issue for the amount involved. The directors are also unwilling to borrow because the company already has a very high level of debt in its balance sheet.

C Bank has offered to lease the equipment to S. The bank has proposed a finance package in which S would take the equipment on a two-year lease. The intention is that S will take out a second two-year lease at the conclusion of the initial period and a third at the conclusion of that one. By that time the equipment will have reached the end of its useful life.

C Bank will not require S to commit itself in writing to the two secondary lease periods. Instead, S will agree in writing to refurbish the equipment to a brand new condition before returning it to C Bank. This condition will, however, be waived if the lease is subsequently extended to a total of six years or more. Once the equipment is used, it would be prohibitively expensive to refurbish it.

S’s directors are very interested in the arrangement proposed by C Bank. They believe that each of the two-year contracts would be accounted for as an operating lease because each covers only a fraction of the equipment’s expected useful life.

Required:
(a)
Explain how the decision to treat the lease as an operating lease rather than a finance lease would affect S’s income statement, balance sheet and any accounting ratios based on these.



(6 marks)

(b)
Explain whether S should account for the proposed lease as an operating lease or as a finance lease.
(4 marks)

(c)
It has been suggested that forcing companies to disclose liabilities in respect of finance leases in their balance sheets has an adverse effect on their gearing ratios. Explain whether the classification of a lease as a finance lease can actually affect a company.



(5 marks)

(d)
It has been suggested that the rules governing the preparation of financial statements leave some scope for the preparers of financial statements to influence the profit figure or balance sheet position. Explain whether you agree with this suggestion.
(5 marks)



(Total 20 marks)



(Adapted CIMA Paper 6b May 2001)
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